4 3 | 2 !
X TATION Eyra— | REVISIONS
) copmont — By - il = | T o[zl sl TATE TR | AP

A | creaTiON 22-dun—17(MP | —

1x Boulon M8 acier inoxydable AZ-70: Z0Nm
1x Bolt M8, A2-70 stainless steel: 20MNm

M10 U—Bolt Stainless steel AZ—70 : 37Mm
Etrier M10 acier inoxydable A2—70 : 37Nm Cable @24 & @35 i o
] @24 to @35 Conductor Jx Vis Hc M10, acier inoxydable A2-70
3x Screw Hc M10, stainless steel AZ-70
36
- @305 — b i st —_- — @180 mini @200
)
M8 to @24 Conductor 72
, S
THIS DRAWING IS A CONTROLLED DOCUMENT. Ilj_';REVOT —dun—17
Ty - ‘E TE Connectivity
DIMENSIONS: TOLERANCES UNLESS ‘FTD AUE
OTHERWSE SPECIFIED:
mm AT CORONA SHIELD END CAP — CABLE HOLDER
. 10866050001 BOUCHON PARE—EFFLUVE PORTE CABLE
(R pre 1 eio0g0z0-00 5 TAPAC 82 T200 18/35
B PLC t - 4 _ SIZE CAGE CODE JORAWING NO RESTRICTED TO
I TEM: AT s [== 3.8 kg JA3f0779|C=2301117 —
i ) [cusToMER DRAWNG =72 | «1 =&
[

1470-19 {1,18)




